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Jet Phase Coast Phase Matlab Code
T(s) V (m/s) X (m) T(s) V (m/s) X (m) function fluids _midterm 01
0.00 0.200000 0-000000 8.00 0427021 2.530815
0.25 0.205684 0.050711 9.00 0.416961 2.952806 V0l = 0.2;M = 8.85;tau =
0-50 0211515 0102861 10..00 0.407365 3364969 0.122;a = —.4;
0:=75 0:217496 0.156487 2000 0.331151 7.031538 1 =0.0:0.25:7.25;
1.00 0:.223629 0.211628 30.00 0.278960 10.067336 Q = V01/(1 + a*V01l);
1.25 0:229918 0.268321 40.00 0.240980 12.657873 V1 = Q./(0. 4*Q+exp! tau.*tl));
1,50 0.236366 0.326607 5000 0.212103 14:,917211 V02 = V1(length(V1));
1.75 0.242974 0.386524 60.00 0,189406 16.920520 t02 = tl(length(tl));
2.00 0.249748 0.448114 70.00 0.171097 18.719967 £t2 = t0240.75: 1 0:30%t02;
2.25 0.256688 0.511419 80.00 0.156016 20.353236 |+t2 = +02+0.75:1.0:300.0;
2.50 0.263799 0.576480 100.00 0.132634 23.227123 R = O.S*VOZ/M,
2.75 0.271083 0.643340 110.00 0.123388 24.506130 V2 = V02./(R.*(£t2-t02) + 1);
3.00 0.278543 0.712043 120.00 0.115347 25.698911 t = [tl t2];
3.25 0.286182 0.782634 130.00 0.108290 26.816361 Vo= [V1 V2];
3.50 0.294002 0.855157 140,00 0.102047 27.867433 x = zeros(length(t))
3.75 0.,302008 0.929658 150.00 0.096484 28.859572 for i=2:length(t)
4,00 0.310200 1.006184 160.00 0.091497 29.799038 x(i) = x(i-1) +
4.25 0.318583 1.084782 170.00 0.086999 30.691143 ((V(i)+V(i-1))/2.0)* (£ (i) -t (i-
4..50 0:327158 1:165500 180.00 0.082923 31.540434 1));
4.75 0.:.335929 1.248385 190.00 0.079212 32.350833 end
5.00 0.344897 1.333489 200.00 0.075819 33.125745 for
5.25 0.354066 1.420859 21000 0..072705 33.868150
550 10,863437 1.5106547 220.00 0.069836 34.580665 £
5,75 10373013 1602608 230.00 0.067185 35.265605 end
6.00 0.382797 1.697080 240.00 0.064728 35.925023 figur
6.25 0.392789 1.794028 250.00 10.062445 36.560755 %label
6.50 0.402983 1.893501 260.00 0.060317 37.174442 (s
6.75 0:413410 1.995551 269.00 0.058522 37.709137 y
700 0.42404.1 2.100232 270.00 0.058329 37.767563 (m
1225 0:434890 2:207599 280.00 0.056468 38.341451 3
29000 0.054723 38.897315 %
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y“ ed
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